Simplify. Assume all variables are positive.

J6ab? « J2a%h3

below are two methods to simplify this expression
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Simplify. Assume all variables are positive.

422a3b% « Y4ab - §26a°b'?
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You could also find the product
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Simplify. Assume all variables are positive.
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3 You could also find the product
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Simplify. Assume that all variables are positive.
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You can turn the ratio of two radicals, if they have the same index, into one radical, simplify
the fraction, then find the roots.



Simplify. Assume that all variables are positive.

this works in the other direction too.

if 7@ and /b are real #s
and b = 0, then
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You can separate the single radical into two separate radicals, one for the numerator
and one for the denominator, do the roots, then simplify the fraction.

Simplify. Assume that all variables are positive.
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This is the answer if you reduce the fraction first then
do the cube root.

Simplify. Assume that all variables are positive.
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This is the answer if you reduce the fraction first then
do the square root.

You can now finish Hwk #4
Sec 7-2 Due
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Problems 14-16, 19, 21, 25, 26, 44, 45



